Outline and Evaluate research into conformity (12 marks)
Asch devised an ____________ (obvious) task which required individuals to judge the length of lines. A pilot study was conducted to test the ambiguity of the task, participants made a total of ___ errors from 720 trials, demonstrating how ________________ and unambiguous the task was. 

Asch conducted his research on 123 __________ male undergraduates, who were shown a series of 4 lines (one standard line and 3 comparison lines – one of which was the same length) participants had to identify which of the comparison lines matched the standard line in length. In each experiment participants were seated around a table, all but one were confederates and the true participant was always __________ or __________________ to answer. Asch instructed the confederates to give the same incorrect answer on 12 of the 18 trials, these were known as ‘_________ trials’. Asch found a mean conformity rate of ___%, which means that participants agreed with the incorrect majority answer on over one third of the critical trials. This is a very high rate of conformity considering the easy, unambiguous nature of the task. Within the 37% conformity rate, 5% conformed on every trial, where as ____% of participants remained ______________ (going against the majority) on all of the 12 critical trials.

Asch’s research can be criticised for using ___________, this means that participants were deliberately mislead during the research. For example, the true participant was told those people sat around the table were all _________________. This is a problem because it goes against the _____ ethical guidelines, which suggests that deception should be avoided.
However, there was a high level of control over the ____________, this means that the research was set in a lab and so was a highly controlled environment and _______ could be controlled, for example, light and sound levels could be easily maintained/controlled. This is a strength because it suggests that the ____ was the only thing to have affected the ____, meaning that a _______ and _________ relationship could be established, giving the study high ____________ validity.

Finally, Asch’s research can be criticised for being _______________, this means that only men were used in the research and so the findings aren’t representative of women. For example, women may behave differently to men in that situation – they may be more/less likely to conform. This is problematic because the study lacks ___________ validity as the findings cannot be generalised to all people. 
